
ASSEMBLY INSTRUCTION

FUR-S-TAB-02-IND-BKWD
1.Assembly should only be carried
  out by an adult.
2.Check periodically that all parts
  are firmly fixed to ensure safe use.
3.Wipe clean only.





1

2

2

3 4

5

5

4

M6 x 12 mm
A x 28

φ7 x 40 mm
B x 8

φ4 mm
D x 1 E x 4

F x 4

M4 x 14 mm
C x 6



2

2

5

5

4

4

Step 1

A

A
E

E

E

E

A

A

A

Step 2

φ4 mm
D x 1

M6 x 12 mm
A x 12

D

D

φ7 x 40 mm
B x 8

E x 4

A

E

3

B

B

B

B

B

B

B

B

B



A

D

F x 4

1

Step 3

Step 4

M4 x 14 mm
C x 6

M6 x 12 mm
A x 16

C

C

A

A

A

FF

F

F

A A

C

C

C

C



Step 5

Step 6


